B 3L P K
108 £ & pr
A E AN LEE A4

2 p g
oz RE

L2t RIRZELAN
FHB &M TP



3 37 o K22 108 B B AR - HEIR A Sl R

BE: TEANZ RFi: TATIREZERA

A%l B A LME AT AR ERER] 1 H
KEE | YEARAZBEEHE > B 1 P P=50N, L=3m, #7748 & £1£ % S0mm K
# 3 4 80MPa © (25%)
B 2ALSZRAKN > KRB P kiR AT UKT, © (25%)
SEBIHEPZBEKFARL A B P P1=200kN, P2=300 kN - AD s& BC Tk
3m > AB £ CD 424 & 4m > 244 245 KAt # A 20000kN/em” » 4% 4 Z B @ 1524 %
10cm? * (25%)
KRN BHT: QN H O ©FH (DB (M HERE (25%)

3Pp—> @ le—->P
| 1 »
3L L |
1
20MPa 4P1
C
Tz B
P2
40 MPa Ty
30
4—
10MPa
2
A D

& 3




